
Список вопросов по предмету: Межрегиональная предметная олимпиада КФУ по иностранному языку (английский язык) для 7 классов, 2021 

100 Choose the correct answer, A, B, C or D. 

How many ... of sugar would you like in your tea? 

1 lumps 

2 brick 

3 spoon 

4 spots 
 

 

2   

101 Choose the correct answer, A, B, C or D. 

What do you use to play hockey? 

1 a stick 

2 a club 

3 a pole 

4 a rod 
 

 

2   

102 Choose the correct answer, A, B, C or D. 
Heels and soles are both parts of ... . 

1 mountains 

2 rivers 

3 dishes 

4 shoes 
 

 

2   

103 Choose the correct answer, A, B, C or D. 
Agatha told me about her new project, ... she is enjoying very much. 

1 which 

2 that 

3 what 

4 whose 
 

 

2   

104 Choose the correct answer, A, B, C or D. 

I won't tell anyone your secret. My lips are ... . 

1 closed 

2   
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2 shut 

3 blocked 

4 sealed 
 

 

105 Choose the correct answer, A, B, C or D. 

The pizza ... after he's finished his work. 

1 delivers 

2 has been delivered 

3 will deliver 

4 will be delivered 
 

 

2   

106 Choose the correct answer, A, B, C or D. 
Unless you ... wasting my time, I'm leaving right now. 

1 will stop 

2 stop 

3 don't stop 

4 won't stop 
 

 

2   

107 Choose the correct answer, A, B, C or D. 
When she was in her thirties, she suddenly came ... a lot of money and never had to work again. 

1 by 

2 into 

3 across 

4 on 
 

 

2   

108 Choose the correct answer, A, B, C or D. 

Usually we ... to stay out after midnight but today a holiday so it's different. 

1 aren't allowed 

2 aren't made 

3 don't let 

4 are not let 
 

 

2   

109 Choose the correct answer, A, B, C or D. 2   
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Which sentence does NOT have a mistake? 

1 This portrait was painted from a friend of hers. 

2 He agreed helping me with the gardening. 

3 I wish I had a lot of money. 

4 He refused talking to me again. 
 

 

110 Choose the correct answer, A, B, C or D. 
Which word is a synonym for "numerous"? 

1 abundant 

2 similar 

3 miniature 

4 uniform 
 

 

2   

111 Choose the correct answer, A, B, C or D. 
... spending a long time on a plane, the trip should be very enjoyable. 

1 But 

2 Despite 

3 Apart 

4 In spite 
 

 

2   

112 Choose the correct answer, A, B, C or D. 

Which word is an antonym for "very old"? 

1 timeworn 

2 ancient 

3 archaic 

4 current 
 

 

2   

113 Choose the correct answer, A, B, C or D. 

Which word has a spelling mistake? 

1 Edinborough 

2 Massachusetts 

3 Leicester 

2   
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4 Mississippi 
 

 

114 Choose the correct answer, A, B, C or D. 

Which word is the odd one out in the group? 

1 Sydney 

2 Canberra 

3 Melbourne 

4 Cardiff 
 

 

2   

115 Choose the correct answer, A, B, C or D. 
He refused to take ... for what had happened. 

1 ambitions 

2 responsibility 

3 equality 

4 sentiments 
 

 

2   

116 Choose the correct answer, A, B, C or D. 
No need to run. We have ... time. 

1 lot of 

2 plenty 

3 plenty of 

4 a lot 
 

 

2   

117 Choose the correct answer, A, B, C or D. 

She ... at me from the other side of the room to get my attention. 

1 waved 

2 frowned 

3 yawned 

4 beat 
 

 

2   

118 Choose the correct answer, A, B, C or D. 

The school ... has played in lots of concerts - the musicians are all really talented. 

1 orchestra 

2   
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2 choir 

3 composers 

4 scenario 
 

 

119 Choose the correct answer, A, B, C or D. 

He is looking forward ... them again. 

1 see 

2 to see 

3 seeing 

4 to seeing 
 

 

2   

120 Which TWO transcribed words belong to the given category? 
fruit 

 

A /ˈwɒlɪt/ 

B /ˈblækˈkʌrənt/ 

C /ˈmɪtnz/ 

D /ʌmˈbrɛlə/ 

E /ˈkɒlɪflaʊə/ 

F /ˈkɑːdɪgən/ 

G /ˈrɑːzbəri/ 

H /'lɛtɪs/ 

 

Получившуюся последовательность букв ввести заглавными, без пробелов и других символов (например: CA) 

 
BG 

 

 

3   

121 Which TWO transcribed words belong to the given category? 

vegetables 

ИНТЕРВАЛ 

A /ˈwɒlɪt/ 

B /ˈblækˈkʌrənt/ 

C /ˈmɪtnz/ 

D /ʌmˈbrɛlə/ 

E /ˈkɒlɪflaʊə/ 

F /ˈkɑːdɪgən/ 

3   
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G /ˈrɑːzbəri/ 

H /'lɛtɪs/ 

Получившуюся последовательность букв ввести заглавными, без пробелов и других символов (например: CA) 

 
EH 

 

 

122 Which TWO transcribed words belong to the given category? 
clothes 

ИНТЕРВАЛ 

A /ˈwɒlɪt/ 

B /ˈblækˈkʌrənt/ 

C /ˈmɪtnz/ 

D /ʌmˈbrɛlə/ 

E /ˈkɒlɪflaʊə/ 

F /ˈkɑːdɪgən/ 

G /ˈrɑːzbəri/ 

H /'lɛtɪs/ 

Получившуюся последовательность букв ввести заглавными, без пробелов и других символов (например: CA) 

 
CF 

 

 

3   

123 Find the ending to make a name of a famous British writer or poet. 
George Gordon 

1 Christie 

2 Dickens 

3 Stevenson 

4 Byron 

5 Hamilton 

6 Burns 

7 Doyle 

8 Bronte 

9 Scott 
 

 

3   

124 Find the ending to make a name of a famous British writer or poet. 
Walter 

1 Christie 

3   
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2 Dickens 

3 Stevenson 

4 Byron 

5 Hamilton 

6 Burns 

7 Doyle 

8 Bronte 

9 Scott 
 

 

125 Find the ending to make a name of a famous British writer or poet. 

Robert Louis 

1 Christie 

2 Dickens 

3 Stevenson 

4 Byron 

5 Hamilton 

6 Burns 

7 Doyle 

8 Bronte 

9 Scott 
 

 

3   

126 Find the ending to make a name of a famous British writer or poet. 
Robert 

1 Christie 

2 Dickens 

3 Stevenson 

4 Byron 

5 Hamilton 

6 Burns 

7 Doyle 

8 Bronte 

3   
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9 Scott 
 

 

127 Find the ending to make a name of a famous British writer or poet. 

Arthur Conan 

1 Christie 

2 Dickens 

3 Stevenson 

4 Byron 

5 Hamilton 

6 Burns 

7 Doyle 

8 Bronte 

9 Scott 
 

 

3   

128 Find the ending to make a name of a famous British writer or poet. 
Agatha 

1 Christie 

2 Dickens 

3 Stevenson 

4 Byron 

5 Hamilton 

6 Burns 

7 Doyle 

8 Bronte 

9 Scott 
 

 

3   

129 Find the ending to make a name of a famous British writer or poet. 
Charlotte 

1 Christie 

2 Dickens 

3 Stevenson 

4 Byron 

3   
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5 Hamilton 

6 Burns 

7 Doyle 

8 Bronte 

9 Scott 
 

 

130 Choose the correct preposition to fill in the gap. 

I'm not going to put ... your behavior any longer. 

1 out 

2 away 

3 on 

4 up 

5 off 

6 through 

7 up with 

8 in 

9 back 
 

 

3   

131 Choose the correct preposition to fill in the gap. 
I have a toothache, but I'm putting ... going to the dentist. 

1 out 

2 away 

3 on 

4 up 

5 off 

6 through 

7 up with 

8 in 

9 back 
 

 

3   

132 Choose the correct preposition to fill in the gap. 
Look at her! It seems she has put ... twenty kilos. 

3   
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1 out 

2 away 

3 on 

4 up 

5 off 

6 through 

7 up with 

8 in 

9 back 
 

 

133 Choose the correct preposition to fill in the gap. 

Before going to sleep, the campers put the fire ... . 

1 out 

2 away 

3 on 

4 up 

5 off 

6 through 

7 up with 

8 in 

9 back 
 

 

3   

134 Choose the correct preposition to fill in the gap. 
The burglars broke ... the neighbour's house when they were on holiday. 

1 out 

2 away 

3 on 

4 up 

5 off 

6 through 

7 up with 

3   
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8 in 

9 back 
 

 

135 Choose the correct preposition to fill in the gap. 

Oh, this melody brings ... nice memories! 

1 out 

2 away 

3 on 

4 up 

5 off 

6 through 

7 up with 

8 in 

9 back 
 

 

3   

136 Choose TWO words or word-combinations to fill in the gaps 37A and 37B. 
Guinea pigs are not really pigs. They are rodents, like rabbits, rats and mice. They have a large head, small ears and short legs. Most guinea pigs that 

live in their natural (37A) ... have long, course, brown or grey fur. Guinea pigs (37B) ... by animal breeders may have a long or short fur of varying 

texture, and can be any ... black, brown, red or white. Most kinds of wild guinea pigs live in ... from 5 to 10 animals. They make ... on grassy plains and 

the edges of forests and in marshes and rocky areas. Guinea pigs dig borrows in soil or among rocks and ... there during the day. They are mainly ... at 

night, when they feed on plants. They produce loud whistlelike squeals when ... . 

ИНТЕРВАЛ 

A are liked 

B combination of 

C frightened 

D active 

E their home 

F bred 

G groups of 

H stay 

I surroundings 

ИНТЕРВАЛ 

Получившуюся последовательность букв ввести заглавными, без пробелов и других символов (например: CA) 

 
IF 

 

 

3   
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137 Choose TWO words or word-combinations to fill in the gaps 38A and 38B. 
Guinea pigs are not really pigs. They are rodents, like rabbits, rats and mice. They have a large head, small ears and short legs. Most guinea pigs that 

live in their natural ... have long, course, brown or grey fur. Guinea pigs ... by animal breeders may have a long or short fur of varying texture, and can 

be any (38A) ... black, brown, red or white. Most kinds of wild guinea pigs live in (38B) ... from 5 to 10 animals. They make ... on grassy plains and the 

edges of forests and in marshes and rocky areas. Guinea pigs dig borrows in soil or among rocks and ... there during the day. They are mainly ... at 

night, when they feed on plants. They produce loud whistlelike squeals when ... . 

ИНТЕРВАЛ 

A are liked 

B combination of 

C frightened 

D active 

E their home 

F bred 

G groups of 

H stay 

I surroundings 

ИНТЕРВАЛ 

Получившуюся последовательность букв ввести заглавными, без пробелов и других символов (например: CA) 

 
GB 

 

 

3   

138 Choose TWO words or word-combinations to fill in the gaps 39A and 39B. 

Guinea pigs are not really pigs. They are rodents, like rabbits, rats and mice. They have a large head, small ears and short legs. Most guinea pigs that 

live in their natural ... have long, course, brown or grey fur. Guinea pigs ... by animal breeders may have a long or short fur of varying texture, and can 

be any ... black, brown, red or white. Most kinds of wild guinea pigs live in ... from 5 to 10 animals. They make (39A) ... on grassy plains and the edges 

of forests and in marshes and rocky areas. Guinea pigs dig borrows in soil or among rocks and (39B) ... there during the day. They are mainly ... at 

night, when they feed on plants. They produce loud whistlelike squeals when ... . 

ИНТЕРВАЛ 

A are liked 

B combination of 

C frightened 

D active 

E their home 

F bred 

G groups of 

H stay 

I surroundings 

ИНТЕРВАЛ 

3   
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Получившуюся последовательность букв ввести заглавными, без пробелов и других символов (например: CA) 

 
EH 

 

 

139 Choose TWO words or word-combinations to fill in the gaps 40A and 40B. 
Guinea pigs are not really pigs. They are rodents, like rabbits, rats and mice. They have a large head, small ears and short legs. Most guinea pigs that 

live in their natural ... have long, course, brown or grey fur. Guinea pigs ... by animal breeders may have a long or short fur of varying texture, and can 

be any ... black, brown, red or white. Most kinds of wild guinea pigs live in ... from 5 to 10 animals. They make ... on grassy plains and the edges of 

forests and in marshes and rocky areas. Guinea pigs dig borrows in soil or among rocks and ... there during the day. They are mainly (40A) ... at night, 

when they feed on plants. They produce loud whistlelike squeals when (40B) ... . 

ИНТЕРВАЛ 

A are liked 

B combination of 

C frightened 

D active 

E their home 

F bred 

G groups of 

H stay 

I surroundings 

ИНТЕРВАЛ 

Получившуюся последовательность букв ввести заглавными, без пробелов и других символов (например: CA) 

 
DC 

 

 

3   

200 Choose the correct answer, A, B, C or D. 
The horse is the main ... of transport in their village. 

1 mean 

2 means 

3 method 

4 methods 
 

 

2   

201 Choose the correct answer, A, B, C or D. 
What do you use when you go fishing? 

1 a stick 

2 a club 

2   

https://abiturient.kpfu.ru/entrant/high_edu.priem_cabinet?p1=3958&p2=368115591&p_h=E5227D2C6757D71A14199A3054A04D7A&p_sbj=2212&p_id=138634&p_question_type=3&p_answer_count=1&p_tp=quest_form
https://abiturient.kpfu.ru/entrant/high_edu.priem_cabinet?p1=3958&p2=368115591&p_h=E5227D2C6757D71A14199A3054A04D7A&p_sbj=2212&p_id=138636&p_question_type=1&p_answer_count=4&p_tp=quest_form
https://abiturient.kpfu.ru/entrant/high_edu.priem_cabinet?p1=3958&p2=368115591&p_h=E5227D2C6757D71A14199A3054A04D7A&p_sbj=2212&p_id=138640&p_question_type=1&p_answer_count=4&p_tp=quest_form


3 a pole 

4 a rod 
 

 

202 Choose the correct answer, A, B, C or D. 

Which word does not refer to clothes? 

1 flowery 

2 tartan 

3 checked 

4 spoilered 
 

 

2   

203 Choose the correct answer, A, B, C or D. 
If it had been a little warmer we would ... for a swim. 

1 gone 

2 had gone 

3 have gone 

4 have going 
 

 

2   

204 Choose the correct answer, A, B, C or D. 
I was shocked to see Ted reading an encyclopedia! He's a bit of a dark ..., isn't he? 

1 cat 

2 horse 

3 goose 

4 duck 
 

 

2   

205 Choose the correct answer, A, B, C or D. 

Nobody realised the electricity ... off. 

1 is switched 

2 switched 

3 have switched 

4 had been switched 
 

 

2   

206 Choose the correct answer, A, B, C or D. 

It's a pity I'm not good at sports. I wish I ... good at it! 
2   
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1 am 

2 was 

3 will be 

4 would be 
 

 

207 Choose the correct answer, A, B, C or D. 

He is great at coming ... brilliant ideas for school projects. 

1 down with 

2 up with 

3 out in 

4 out on 
 

 

2   

208 Choose the correct answer, A, B, C or D. 
... her friend, she was able to go and see her favourite band. 

1 Consequently 

2 So 

3 Thanks to 

4 Because 
 

 

2   

209 Choose the correct answer, A, B, C or D. 
Which sentence does NOT have a mistake? 

1 I can't afford to go to Australia. 

2 She asked me how was I going to travel. 

3 He didn't has to go to school that day. 

4 She suggested me to out more often. 
 

 

2   

210 Choose the correct answer, A, B, C or D. 

Which word is a synonym for "sociable"? 

1 aloof 

2 introverted 

3 uncommon 

4 gregarious 
 

 

2   
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https://abiturient.kpfu.ru/entrant/high_edu.priem_cabinet?p1=3958&p2=368115591&p_h=E5227D2C6757D71A14199A3054A04D7A&p_sbj=2212&p_id=138661&p_question_type=1&p_answer_count=4&p_tp=quest_form


211 Choose the correct answer, A, B, C or D. 
I'm staying with a(n) ... relative. 

1 distant 

2 far 

3 long 

4 away 
 

 

2   

212 Choose the correct answer, A, B, C or D. 

Which word is an antonym for "young"? 

1 adolescent 

2 blooming 

3 mature 

4 inexperienced 
 

 

2   

213 Choose the correct answer, A, B, C or D. 

Which word has a spelling mistake? 

1 physicist 

2 colonel 

3 pshychology 

4 column 
 

 

2   

214 Choose the correct answer, A, B, C or D. 
Which word is the odd one out in the group? 

1 Brisbane 

2 Quebec 

3 Toronto 

4 Montreal 
 

 

2   

215 Choose the correct answer, A, B, C or D. 
She has a very ... manner when dealing with difficult people, which I appreciate. 

1 calmsome 

2 calmed 

2   
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3 relaxing 

4 relaxed 
 

 

216 Choose the correct answer, A, B, C or D. 

I can't go ... you pay for my ticket. I've spent all my money. 

1 unless 

2 until 

3 unwell 

4 when 
 

 

2   

217 Choose the correct answer, A, B, C or D. 
Angela ... her hair and put on her jacket to go out. 

1 frowned 

2 combed 

3 clapped 

4 stamped 
 

 

2   

218 Choose the correct answer, A, B, C or D. 
The ... played some terrible music at the club we went to. 

1 choir 

2 composers 

3 scenario 

4 DJ 
 

 

2   

219 Choose the correct answer, A, B, C or D. 

His mother made him ... the kitchen floor. 

1 clean 

2 to clean 

3 cleaning 

4 to cleaning 
 

 

2   

220 Which TWO transcribed words belong to the given category? 

animals 
3   
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ИНТЕРВАЛ 

A /ˈbeɪkɪŋ/ 

B /ˈwɔːlrəs/ 

C /ˈsɒlstɪs/ 

D /ˈɑːʧəri/ 

E /rəˈkuːn/ 

F /ˈsniːkəz/ 

G /ˈdrɔːɪŋ/ 

H /ˈkɜːlɪŋ/ 

ИНТЕРВАЛ 

Получившуюся последовательность букв ввести заглавными, без пробелов и других символов (например: DCABE) 

 
BE 

 

 

221 Which TWO transcribed words belong to the given category? 
hobbies 

ИНТЕРВАЛ 

A /ˈbeɪkɪŋ/ 

B /ˈwɔːlrəs/ 

C /ˈsɒlstɪs/ 

D /ˈɑːʧəri/ 

E /rəˈkuːn/ 

F /ˈsniːkəz/ 

G /ˈdrɔːɪŋ/ 

H /ˈkɜːlɪŋ/ 

ИНТЕРВАЛ 

Получившуюся последовательность букв ввести заглавными, без пробелов и других символов (например: DCABE) 

 
AG 

 

 

3   

222 Which TWO transcribed words belong to the given category? 

sports 

ИНТЕРВАЛ 

A /ˈbeɪkɪŋ/ 

B /ˈwɔːlrəs/ 

C /ˈsɒlstɪs/ 

D /ˈɑːʧəri/ 

E /rəˈkuːn/ 

3   
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F /ˈsniːkəz/ 

G /ˈdrɔːɪŋ/ 

H /ˈkɜːlɪŋ/ 

ИНТЕРВАЛ 

Получившуюся последовательность букв ввести заглавными, без пробелов и других символов (например: DCABE) 

 
DH 

 

 

223 Find the ending to make a name of a famous British person. 

Charles 

1 Drake 

2 Hawking 

3 Hudson 

4 Rutherford 

5 Kelvin 

6 Fleming 

7 Raleigh 

8 Darwin 

9 Faraday 
 

 

3   

224 Find the ending to make a name of a famous British person. 

Michael 

1 Drake 

2 Hawking 

3 Hudson 

4 Rutherford 

5 Kelvin 

6 Fleming 

7 Raleigh 

8 Darwin 

9 Faraday 
 

 

3   

225 Find the ending to make a name of a famous British person. 

Alexander 
3   
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1 Drake 

2 Hawking 

3 Hudson 

4 Rutherford 

5 Kelvin 

6 Fleming 

7 Raleigh 

8 Darwin 

9 Faraday 
 

 

226 Find the ending to make a name of a famous British person. 

Ernest 

1 Drake 

2 Hawking 

3 Hudson 

4 Rutherford 

5 Kelvin 

6 Fleming 

7 Raleigh 

8 Darwin 

9 Faraday 
 

 

3   

227 Find the ending to make a name of a famous British person. 

Lord 

1 Drake 

2 Hawking 

3 Hudson 

4 Rutherford 

5 Kelvin 

6 Fleming 

7 Raleigh 

3   
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8 Darwin 

9 Faraday 
 

 

228 Find the ending to make a name of a famous British person. 

Henry 

1 Drake 

2 Hawking 

3 Hudson 

4 Rutherford 

5 Kelvin 

6 Fleming 

7 Raleigh 

8 Darwin 

9 Faraday 
 

 

3   

229 Find the ending to make a name of a famous British person. 

Francis 

1 Drake 

2 Hawking 

3 Hudson 

4 Rutherford 

5 Kelvin 

6 Fleming 

7 Raleigh 

8 Darwin 

9 Faraday 
 

 

3   

230 Choose the correct preposition to fill in the gap. 
I ran ... an old friend of mine at the concert yesterday. 

1 out of 

2 into 

3 about 

3   
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4 on 

5 out 

6 down 

7 off 

8 up 
 

 

231 Choose the correct preposition to fill in the gap. 

The group of hikers set ... for the hills early in the morning. 

1 out of 

2 into 

3 about 

4 on 

5 out 

6 down 

7 off 

8 up 
 

 

3   

232 Choose the correct preposition to fill in the gap. 
How long have you been working ... your project? 

1 out of 

2 into 

3 about 

4 on 

5 out 

6 down 

7 off 

8 up 
 

 

3   

233 Choose the correct preposition to fill in the gap. 
I have to write a story for my school but I've run ... ideas. 

1 out of 

2 into 

3   
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3 about 

4 on 

5 out 

6 down 

7 off 

8 up 
 

 

234 Choose the correct preposition to fill in the gap. 

I don't know what brought ... her sudden change in attitude towards me. 

1 out of 

2 into 

3 about 

4 on 

5 out 

6 down 

7 off 

8 up 
 

 

3   

235 Choose the correct preposition to fill in the gap. 
They were driving to the country house when suddenly the car broke ... . 

1 out of 

2 into 

3 about 

4 on 

5 out 

6 down 

7 off 

8 up 
 

 

3   

236 Choose TWO words or word-combinations to fill in the gaps 37A and 37B. 
Greenland is the largest island in the world but has a small population of 56,000. Many of these 'Greenlanders' live close to the coastline because a 

large part of the country is (37A) ... and glaciers. More than a quarter of all the people live in the capital, Nuuk. Since the 1960s, the country has had 

3   
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economic difficulties and social problems. Its traditional industry - and its biggest - is fishing but the country still imports much more than it exports. 

Now, however, life is about (37B) ... for many Greenlanders - and all because of the weather. Most scientists agree that the world's climate is getting 

warmer and you can already ... in Greenland. For example, small icebergs - about the size of city buses - are floating near ... . They have broken off 

from much larger areas of ice further out in the ocean because of the change in temperature. Farming will also change. The growing season is ... spring 

arriving earlier and longer summers. ... if the country produced more of its own food, it wouldn't need to import so much. ... some farmers are worried. 

They think the drier summers ... new problems. For example, last year, it was so dry, farmers produced half the normal amount of food. 

ИНТЕРВАЛ 

A might create 

B On the one hand, 

C Luckily, 

D to the coast 

E longer with 

F covered with ice 

G On the other hand, 

H to change dramatically 

I see the difference 

ИНТЕРВАЛ 

Получившуюся последовательность букв ввести заглавными, без пробелов и других символов (например: CA) 

 
FH 

 

 

237 Choose TWO words or word-combinations to fill in the gaps 38A and 38B. 

Greenland is the largest island in the world but has a small population of 56,000. Many of these 'Greenlanders' live close to the coastline because a 

large part of the country is ... and glaciers. More than a quarter of all the people live in the capital, Nuuk. Since the 1960s, the country has had 

economic difficulties and social problems. Its traditional industry - and its biggest - is fishing but the country still imports much more than it exports. 

Now, however, life is about ... for many Greenlanders - and all because of the weather. Most scientists agree that the world's climate is getting warmer 

and you can already (38A) ... in Greenland. For example, small icebergs - about the size of city buses - are floating near (38 B) ... . They have broken 

off from much larger areas of ice further out in the ocean because of the change in temperature. Farming will also change. The growing season is ... 

spring arriving earlier and longer summers. ... if the country produced more of its own food, it wouldn't need to import so much. ... some farmers are 

worried. They think the drier summers ... new problems. For example, last year, it was so dry, farmers produced half the normal amount of food. 

ИНТЕРВАЛ 

A might create 

B On the one hand, 

C Luckily, 

D to the coast 

E longer with 

F covered with ice 

G On the other hand, 

3   
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H to change dramatically 

I see the difference 

ИНТЕРВАЛ 

Получившуюся последовательность букв ввести заглавными, без пробелов и других символов (например: CA) 

 
ID 

 

 

238 Choose TWO words or word-combinations to fill in the gaps 39A and 39B. 

Greenland is the largest island in the world but has a small population of 56,000. Many of these 'Greenlanders' live close to the coastline because a 

large part of the country is ... and glaciers. More than a quarter of all the people live in the capital, Nuuk. Since the 1960s, the country has had 

economic difficulties and social problems. Its traditional industry - and its biggest - is fishing but the country still imports much more than it exports. 

Now, however, life is about ... for many Greenlanders - and all because of the weather. Most scientists agree that the world's climate is getting warmer 

and you can already ... in Greenland. For example, small icebergs - about the size of city buses - are floating near ... . They have broken off from much 

larger areas of ice further out in the ocean because of the change in temperature. Farming will also change. The growing season is (39A) ... spring 

arriving earlier and longer summers. (39B) ... if the country produced more of its own food, it wouldn't need to import so much. ... some farmers are 

worried. They think the drier summers ... new problems. For example, last year, it was so dry, farmers produced half the normal amount of food. 

ИНТЕРВАЛ 

A might create 

B On the one hand, 

C Luckily, 

D to the coast 

E longer with 

F covered with ice 

G On the other hand, 

H to change dramatically 

I see the difference 

ИНТЕРВАЛ 

Получившуюся последовательность букв ввести заглавными, без пробелов и других символов (например: CA) 

 
EB 
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239 Choose TWO words or word-combinations to fill in the gaps 40A and 40B. 
Greenland is the largest island in the world but has a small population of 56,000. Many of these 'Greenlanders' live close to the coastline because a 

large part of the country is ... and glaciers. More than a quarter of all the people live in the capital, Nuuk. Since the 1960s, the country has had 

economic difficulties and social problems. Its traditional industry - and its biggest - is fishing but the country still imports much more than it exports. 

Now, however, life is about ... for many Greenlanders - and all because of the weather. 

Most scientists agree that the world's climate is getting warmer and you can already ... in Greenland. For example, small icebergs - about the size of 

city buses - are floating near ... . They have broken off from much larger areas of ice further out in the ocean because of the change in temperature. 
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https://abiturient.kpfu.ru/entrant/high_edu.priem_cabinet?p1=3958&p2=368115591&p_h=E5227D2C6757D71A14199A3054A04D7A&p_sbj=2212&p_id=138724&p_question_type=3&p_answer_count=1&p_tp=quest_form
https://abiturient.kpfu.ru/entrant/high_edu.priem_cabinet?p1=3958&p2=368115591&p_h=E5227D2C6757D71A14199A3054A04D7A&p_sbj=2212&p_id=138727&p_question_type=3&p_answer_count=1&p_tp=quest_form


Farming will also change. The growing season is ... spring arriving earlier and longer summers. ... if the country produced more of its own food, it 

wouldn't need to import so much. (40A) ... some farmers are worried. They think the drier summers (40B) ... new problems. For example, last year, it 

was so dry, farmers produced half the normal amount of food. 

ИНТЕРВАЛ 

A might create 

B On the one hand, 

C Luckily, 

D to the coast 

E longer with 

F covered with ice 

G On the other hand, 

H to change dramatically 

I see the difference 

ИНТЕРВАЛ 

Получившуюся последовательность букв ввести заглавными, без пробелов и других символов (например: CA) 

 
GA 

 

 

 


